Definition of the variables

1) Blanchard, Perotti 2002
a) TAX = Personal Tax and Nontax Receipts (NIPA 3.1.2) + Corporate Profits Tax Receipts (NIPA 3.1.3)  + Indirect Business Tax and Nontax Accruals (NIPA 3.1.3) + Contributions for Social Insurance (NIPA 3.1.4) - Net Transfer Payments to Persons - Net Interest Paid by Government. 

In the version of NIPA tables up to 2003:
Current receipts (NIPA 3.1.1) = Personal Tax and Nontax Receipts (NIPA 3.1.2) + Corporate Profits Tax Receipts (NIPA 3.1.3)  + Indirect Business Tax and Nontax Accruals (NIPA 3.1.4) + Contributions for Social Insurance (NIPA 3.1.5) 

Net Transfer Payments to Persons (NIPA 3.1.9)

Net interest paid (NIPA 3.1.11) = interest paid (NIPA 3.1.12) – interest received by government (NIPA 3.1.15) – dividends received by government (NIPA 3.2.16)

Starting form 2004 this is equivalent to:
Current receipts (NIPA 3.1.1) = Current tax receipts (NIPA 3.1.2) + Contributions for government social insurance (NIPA 3.1.7) + Income receipts on assets (NIPA 3.1.8)  + Current transfer receipts (NIPA 3.1.13)  + Current surplus of government enterprises (NIPA 3.1.16)

Current transfer payment to persons (NIPA 3.1.21)

Interest payment (NIPA 3.1.24) – income receipts on assets (NIPA 3.1.8) = Interest payment (NIPA 3.1.24) -  interest and miscellaneous receipts (NIPA 3.1.9) – dividends (NIPA 3.1.12)

b) EXPENDITURE = Purchases of Goods and Services
c) GDP = Nominal GDP (NIPA 1.1.5.1)
d) Deflator = GDP deflator
e) Population

2) Mertens, Ravn 2012
a) TAX = Federal Current Tax Receipts (NIPA 3.2.2) + Contributions for Government Social Insurance (NIPA 3.2.11) - corporate income taxes from Federal Reserve Banks (NIPA 3.2.8).
b) EXPENDITURE = Federal Government Consumption Expenditures and Gross Investment (NIPA 3.9.5.6) 
c) GDP = Nominal GDP (NIPA 1.1.5.1)
d) Deflator = GDP deflator (NIPA 1.1.9.1)
e) Population = Population ages 16+ obtained from Francis and Ramey (2009).

3) Favero, Karamysheva 2014

a) [bookmark: _GoBack]TAX = General Government Current receipts (NIPA 3.1.1) - General Government Current Transfers to persons (NIPA 3.1.21) - General Government Interest Payments to persons (NIPA 3.1.25) + General Government Income receipts on assets (NIPA 3.1.8) 
Or
TAX = General Current Tax Receipts (NIPA 3.1.2) + General Contributions for Government Social Insurance (NIPA 3.2.7) 
Or
TAX = Federal Total receipts (NIPA 3.2.37) – Federal Interest receipts (NIPA 3.2.13) 
Or
TAX = General Total receipts (NIPA 3.1.31) – General Interest receipts (NIPA 3.1.10) 
b) EXPENDITURE = General Government consumption expenditures and gross investment (NIPA 1.1.5.21) 
c) GDP = Nominal GDP (NIPA 1.1.5.1)
d) Deflator = GDP deflator (NIPA 1.1.9.1)
e) Population = FRED Population (midperiod), Thousands, Quarterly, Seasonally Adjusted Annual Rate
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